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Median:  a segment in a triangle that connects a vertex to the 
midpoint of the opposite side. 
 
 
 
 
 
 
 
Altitude:  a segment in a triangle that connects a vertex to the 
side opposite forming a perpendicular. 
 
 
 
 
 
 
 
 
 
Angle Bisector:  a segment that bisects an angle in a triangle 
and connects a vertex to the opposite side. 
 
 
 
 
 
 
 
 
 
Perpendicular Bisector:  a segment in a triangle that passes 
through the midpoint of a side and is perpendicular to that 
side. 
 
 
 
 
 
 
 
Theorem 5-1.2:  A point is on the perpendicular bisector IFF it 
is equidistant from the endpoints of the segment. 
 
 
 
 
 
 
 
 
 
 
 
 

Draw and label a figure to illustrate each situation. 
#1) 𝑃𝑇̅̅ ̅̅  and 𝑅𝑆̅̅̅̅  are medians of triangle ∆PQR and intersect at 
V. 
 
 
 
 
 
 
#2) 𝐴𝐷̅̅ ̅̅  is a median and an altitude of ∆ABC. 
 
 
 
 
 
 
 
#3) ∆DEF is a right triangle with right angle at F. 𝐹𝐺̅̅ ̅̅  is a 
median of ∆DEF and 𝐺𝐻̅̅ ̅̅   is the perpendicular bisector of 𝐷𝐸̅̅ ̅̅ . 
 
 
 
 
 
 
 
 
State whether each sentence is always, sometimes, or never 
true. 
 
#4) Three medians of a triangle intersect at a point inside the 
triangle. 
 
 
 
 
 
 
 
#5) The three angle bisectors of a triangle intersect at a point 
outside the triangle. 
 
 
 
 
 
 
#6) The three altitudes of a triangle intersect at a vertex of 
the triangle. 
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#7) 𝐴𝐷̅̅ ̅̅  is an altitude of ∆ABC. Find BD. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#8) 𝐴𝐷̅̅ ̅̅ is a median of ∆ABC. Find 𝑚∠𝐴𝐷𝐶 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#9) Find the midpoint of A(2, 4) and B(-5, 8) 
 
 
 
 
 
 
 
 
 
 

#10) Find m�ABC if 𝐵𝐷̅̅ ̅̅  is an angle bisector of ∆ABC. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
#11) 𝐴𝐷̅̅ ̅̅  is a perpendicular bisector of 𝐵𝐶̅̅ ̅̅ . Find x and y. 
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